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Class X 

English Language and Literature (184) 

Sample Question Paper 2018-19  

 

Time allowed: 3 Hours                 Max. Marks: 80 

 

General Instructions: 
 

I. The question paper is divided into three sections : 

 
SECTION A : Reading  20 MARKS 
SECTION B : Writing and Grammar 30 MARKS 
SECTION C : Literature 30 MARKS 

II. All questions are compulsory. 
III. You may attempt any section at a time. 
IV. All questions of that particular section must be attempted in the correct order. 

 

 

SECTION-A 

 (READING) 

 

20 

 

1. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Read the passage given below - 

 

1. Necessity is indeed the mother of invention. When areas in and around Leh began to experience 

water shortages, life didn‟t grind to a halt. Why? Because Chewang Norphel, a retired civil 

engineer in the Jammu and Kashmir government came up with the idea of artificial glaciers. 
 

2. Ladakh, a cold desert at an altitude of 3,000-3,500 metres above sea level, has a low average 

annual rainfall rate of 50mm. Glaciers have always been the only source of water. Agriculture 

is completely dependent on glacier melt unlike the rest of river/monsoon-fed India. But over the 

years with increasing effects of climate change, rainfall and snowfall patterns have been 

changing, resulting in severe shortage and drought situations. Given the severe winter 

conditions, the window for farming is usually limited to one harvest season 
 

3. It is located between the natural glacier above and the village below. The one closer to the 

village and lowest in altitude melts first, providing water during April/May, the crucial sowing 

season. Further layers of ice above melt with increasing temperature thus ensuring continuous 

supply to the fields. Thus, farmers have been able to manage two crops instead of one. It costs 

about Rs.1,50,000 and above to create one. 
 

4. Fondly called the “glacier man”, Mr. Norphel has designed over 15 artificial glaciers in and 

around Leh since 1987. In recognition of his pioneering effort, he was conferred the Padma Shri 

by President Pranab Mukherjee, in 2015. 
 

5.  There are few basic steps followed in creating the artificial glacier. 
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1.1 

 

 

 

 

6. River or stream water at higher altitude is diverted to a shaded area of the hill, facing north, 

where the winter sun is blocked by a ridge or a mountain range. At the start of 

winter/November, the diverted water is made to flow onto sloping hill face through distribution 

channels. Stone embankments are built at regular intervals which impede the flow of water, 

making shallow pools and freeze, forming a cascade of ice along the slope. Ice formation 

continues for 3-4 months resulting in a large accumulation of ice which is referred to as an 

“artificial glacier”.                                                                                      (349 words) 

 
Adapted from: http://www.thehindu.com/opinion/op-ed/a-himalayan-solution/article7927749.ece) 

 

Attempt any eight of the following questions on the basis of the passage you have read.  

                                                                      

i. Who was Chewang Norphel? 

ii. What kind of land form is Ladakh? 

iii. Why have Glaciers been the only source of water for Ladakh? 

iv. Why has the pattern of snowfall and rainfall changed? 

v. How are Glaciers significant for irrigation? 

vi. How do farmers manage to grow two crops instead of one? 

vii. In which year did President Pranab Mukherjee confer Padmashri to Mr. Norphel? 

viii. How many months does the ice formation continue for? 

ix. Find the word in the paragraph 6 which means the same as „gathering‟? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1x8=8 

 

2. Read the passage given below and answer the questions that follow: 

1. Have you ever failed at something so miserably that the thought of attempting to do it again 

was the last thing you wanted to do? 

2. If your answer is yes, then you are “not a robot.” Unlike robots, we human beings have 

feelings, emotions, and dreams. We are all meant to grow and stretch despite our 

circumstances and our limitations. Flourishing and trying to make our dreams come true is 

great when life is going our way. But what happens when it‟s not? What happens when you 

fail despite all of your hard work? Do you stay down and accept the defeat or do you get up 

again and again until you are satisfied? If you have a tendency to persevere and keep going 

then you have what experts call, grit. 
 

3. Falling down or failing is one of the most agonizing, embarrassing, and scariest human 

experiences. But it is also one of the most educational, empowering, and essential parts of 

living a successful and fulfilling life. Did you know that perseverance (grit) is one of the seven 

qualities that have been described as the keys to personal success and betterment in society? 

The other six are: curiosity, gratitude, optimism, self-control, social intelligence, and zest. 

Thomas Edison is a model for grit for trying 1,000 plus times to invent the light bulb. If you 

are reading this with the lights on in your room, you know well he succeeded. When asked 

why he kept going despite his hundreds of failures, he merely stated that what he had been not 

failures. They were hundreds of ways not to create a light bulb. This statement not only 

revealed his grit but also his optimism for looking at the bright side 
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4. Grit can be learned to help you become more successful. One of the techniques that help is 

mindfulness. Mindfulness is a practice that helps the individual stay in the moment by 

bringing awareness of his or her experience without judgment. This practice has been used to 

quiet the noise of their fears and doubts. Through this simple practice of mindfulness, 

individuals have the ability to stop the self-sabotaging downward spiral of hopelessness, 

despair, and frustration. 

5.  What did you do to overcome the negative and self-sabotaging feelings of failure? Reflect on 

what you did, and try to use those same powerful resources to help you today. (396 words) 

[Adapted from http://www.huffingtonpost.com/debbie-lyn-toomey/grit_b_12768724.html 

 

 

2.1 On the basis of your reading of the passage, answer any four of the following questions in 

about 30-40 words each.                                                                                                  

i. According to the passage, what are the attributes of a human? 

ii. What is perceived as grit? 

iii. How is „failing‟ an educational and empowering part of human life? 

iv. In what ways can grit be developed? 

v. How does mindfulness help? 

 

2X4=8 

2.2 On the basis of your reading of the passage, answer any four of the following:                    
 

i. While inventing the light bulb, Thomas Edison had failed   
 

a. 1000 times b. 10000 plus times   c. 1000 plus times d. 10000 times 
 

ii. Failure is a part of  life. 
 

a. normal b. common c. human d. ordinary 
 

iii. In paragraph 2,  means continue. 
 

a. robots b. satisfied c. persevere d. flourishing 
 

iv. In paragraph 3, the synonym of distressing is _  . 
 

a. embarrassing b. scariest c. agonizing d.  failing 
 

v.   helps in preventing individuals from going down the lines of despair. 
 

a. success b. fear c. doubt d. mindfulness 

 

 

 

 

1X4=4 
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SECTION B : 

( WRITING AND GRAMMAR ) 

 

 

30 

 

3. You are Sujal /Sujata of Pragya Public School, Nangal, Punjab who had arranged a trip for fifty 

students to Nanital in summer vacations for ten days with „Mount Travels and Tourism‟. The 

arrangements done by the travel agency were far below the standard .The accommodation and 

food facilities were inferior in quality .Write a letter of complaint to the director of the agency to 

stop duping tourists with false promises as it tarnishes the image of locals . (100-120 words) 

                                                                                                                

OR 

 

India is a highly populated country. People lack in maintaining proper sanitation and hygiene as a 

result they suffer from various diseases. India has a serious sanitation challenge; around 60 per 

cent of the world‟s open defecation takes place in India. Poor sanitation causes health hazards 

including diarrhea, particularly in children under 5 years of age, malnutrition and deficiencies in 

physical development and cognitive ability. You are Nitish /Nikita, head boy/girl of Anand 

Public School, Jaipur. Write a letter to the editor of a national daily, highlighting the problem and 

suggesting practical ways to ensure public sanitation and the right to dignity and privacy.                                                                                         

(100-120 words) 

 

 

8 
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4. 

 

 

 

Develop a short story with the help of the given visual / starting line .Give a suitable title to 

your story. (150-200 words) 

A.   

 

 

 

 

 

 

 

10 

 OR  

 B. It was an amazing day, full of fun and frolic. We all stood aghast to see a strange flying object 

over our heads. We started guessing …(write in 150-200 words) 

 

 

 

5. Fill in any four of the blanks choosing the most appropriate option from the ones given in the 

box. Write the answers in your answer –sheet against the correct blank numbers.                                                                 

     

 

1. Butterflies are abundant (a)  the Central African Republic.  

2. It (b)  ___________home to nearly 600 identified species. 

3. Many butterflies are brilliantly coloured and small(c) some are as big as saucers. 

4. Farmer Philippe (d)  solace in collecting butterfly wings from his fields 

and turning them into works of art. 

5. My favourite hobby, since my childhood, is (e)   butterflies. 
 

 
 
 

 
 
 

 

1x4=4 

     1. (a) (i) in              (ii) from                 (iii) for               (iv) into  

     2. (b) (i) has (ii) is                      (iii) was              (iv) are 

     3. (c) (i) if              (ii) therefore           (iii) so                 (iv) while 
     4. (d) (i) find (ii) to find               (iii) finding         (iv) finds 
     5. (e) (i) catch        (ii) caught               (iii) catching       (iv) has been catching 
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6. In the following passage one word has not been edited in each line .Write the incorrect 

word along with the correct word in the space provided. Do any four . 

                                                                                       incorrect                            correct 

In Himalayas, the desert is turning green .      e.g. the                                 a  

Climate change in  a  Indian  region of                     a)    

Ladakh has shrunk glaciers or has made rainfall       b)     

and temperature unpredictable. Water has                 c)   

needed to irrigating the fields .                                 d)     

Farmers may requiring aid from the government.     e)    

 

4 

7. Rearrange any four of the following word or phrases to make meaningful sentences. 

                                                                                                                                     

i. enters / millions tons / the/ every year / of / ocean /plastic 

ii. are / waters/ sightings / junk – filled /of /common 

iii. population / middle-class / increasing / is / coastlines / along 

iv. trash/ increase/ has led / waste management/lack/of/in / to 

v. close/like/ others/ helping/my/friends 

 

4 

 SECTION C 

(LITERATURE) 

              

30 

 

8. Read the extracts given below and answer the questions that follow. 

A. The moon was coming up in the east, behind me, and stars were shining in the clear sky above 
me. There wasn‟t a cloud in the sky. I was happy to be alone high up above the sleeping 

countryside. 

Questions : 

i. Who narrates the above lines? 

ii. Which type of weather conditions are being discussed in the above lines? 

iii. Explain the term „the sleeping countryside‟? 

iv. Why is the narrator happy? 
 

OR 

 

B. At about the age of twenty five, the Prince, thereof shielded from the sufferings   of the world, 

while hunting out glanced upon a sick man, then an aged man, then a funeral procession, and 

finally a monk begging for alms. These sights so moved him that he at once became a beggar  

and  went  out  into  the  world  to  seek  enlightenment  concerning the sorrows he had 

witnessed. 

Questions : 

i. Whose age has been referred here? 

ii. What was the effect of sights on the prince? 

iii. How did witnessing sorrow change him? 

iv. What does „glance‟ imply in the given lines? 

1x4=4 
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9. Answer any four of the following questions in 30-40 words each. 

                        

i. Hari Singh is both a thief and a human being. Explain. 

ii. How does the necklace change the course of the Loisel‟s life? 

iii. Explain the qualities of the post office employees? 

iv. Why would you not agree with Lencho calling them „a bunch of crooks‟? 

v. Bholi‟s heart was overflowing with a „New hope and a new life‟. What does the phrase „the new 

hope and the new life‟ mean? 

 

2x4=8 

10. Attempt any one out of two long answer type questions in 100-120 words. 

 

A. People should always try to live within their means. Aspirations have no limits but one 

should never forget the ground realities. Elaborate on the basis of chapter, “The Necklace”. 

OR 

 

B. Simple moment proves to be very significant and saves rest of the day of poet from being 

wasted. Explain on the basis of the poem „Dust of Snow‟. 

 

8 

11. (A) Answer the following questions in about 200-250 words. 

 

 

 

 

 

 

 

 

OR 

 

 (B) Answer the following questions in about 200-250 words (10 marks) 

 

 

 

 

 

 

***** 

10 

 

a. Kitty plays a vital role in Anne‟s life. Elucidate 

                                                            OR 

 

b. In spite of the heartrending circumstances in which „The Diary‟ was written, it was 

not an inspiring rather a depressing book. Explore. 
 

a. How did Miss Anne Sullivan help Helen to communicate properly? 

 

                                                    OR 

b.   Give a pen portrait of Helen Keller. 
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प्रतिदर्श प्रश्न ऩत्र (2018-19) 

हिन्दी ऩाठयक्रम- अ 

कक्षा - दसव ीं 

 

तनधाशररि समय- 3 घींटे                                      अतधकिम अींक – 80 

सामान्य तनदेर्:- 

1 इस प्रश्नऩत्र में चार खींड िैं - क,ख,ग और घ | 

2 चारों खींडों के प्रश्नों के उत्तर देना अतनवायश िै | 

3 यथासींभव प्रत्येक खींड के प्रश्नों के उत्तर क्रमर्् दीजिए | 

 

                             

 खींड-‘क’                             

(अऩहठि अींर्) 
अींक-15 

1 ननम्ननरखित गद्यॊश को ध्मयनऩूर्वक ऩढ़िए औय ऩूछे गए प्रश्नों के उत्तय नरखिए-      (8)  

 

 सषृ्टि ने भयनर् को जो सर्वश्रषे्ठ र्यदयन ढ़दए हैं उनभें से एक भहत्र्ऩूणव र्यदयन है 
– स्र्स्थ शयीय | स्र्स्थ शयीय से ही खजॊदगी की सही शुरुआत होती है | 
अस्र्स्थ शयीय भें कहयॉ जीर्न होतय है ? र्ह तो जीर्न ऩय फोझ होतय है | 
जीर्न के सबी सुि, सबी सौंदमव, सबी आनॊद स्र्स्थ होने ऩय ही नभरते हैं | 
स्र्यस््म सबी जीर्धयरयमों के आनॊदभम जीर्न की कुॊ जी है; क्मोंढ़क स्र्यस््म के 
ष्टफनय जीर्धयरयमों की सभस्त ढ़िमयएॉ-प्रढ़िमयएॉ रुक जयती हैं मय नशनथर हो जयती 
हैं | जीर्न को जर बी इसीनरए कहय जयतय है | खजस प्रकयय रुकय जर सड़ जयतय 
है, दगुधंमुक्त हो जयतय है, ठीक इसी प्रकयय नशनथर औय कभवहीन जीर्न से 
स्र्यस््म िो जयतय है | स्र्यस््म औय िेर-कूद कय ऩयस्ऩय गहयय सॊफॊध है | ऩशु-
ऩऺी हो मय भनुष्म, जो िेरतय-कूदतय नहीॊ, र्ह उत्पुल्र औय प्रसन्न यह नहीॊ 
सकतय | जफ हभ िेरते हैं तो हभभें नमय प्रयणयरे्ग, नई स्पूनतव औय नई चेतनय 
आ जयती है | हभ देिते हैं ढ़क हर्य के झोंके एक-दसूये कय ऩीछय कयते हुए दयू-
दयू तक दौड़ते हैं, र्ृऺ ों की शयियओॊ को ढ़हरय-ढ़हरयकय अठिेनरमयॉ कयते हैं | 
आकयश भें उड़ते ऩऺी तयह-तयह की िीड़यएॉ कयते हैं | हभें बी जीर्न-जगत ्से 
पे्रयणय रेते हुए िुरे भन से िेर-कूद भें बयग रेनय चयढ़हए |  

 

(क) स्र्यस््म औय िेर-कूद ऩयस्ऩय एक दसूये के ऩूयक हैं - कैसे ?                                         (2) 
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(ि) 
(ग) 
(घ) 
(ड) 

उदयहयण देते हुए नसद्ध कीखजए ढ़क प्रकृनत बी िेर-कूद ऩसॊद कयती है |                 

स्र्यस््म कय कभव से क्मय सॊफॊध है ?                                           

जीर्न को जर क्मों कहय गमय है ?                                             

उऩमुवक्त गद्यॊश के नरए उऩमुक्त शीर्वक नरखिए |                                 

(2) 
(2) 
(1) 
(1) 

2 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

  (5) 

ननम्ननरखित कयवमयॊश को ध्मयनऩूर्वक ऩढ़िए औय ऩूछे गए प्रश्नों के उत्तय नरखिए-           

अऩने नहीॊ अबयर् नभटय ऩयमय जीर्न बय  

ऩय औयों के सबी अबयर् नभटय सकतय हूॉ | 
तूपयनों-बूचयरों की बमप्रद छयमय भें,  

भैं ही एक अकेरय हूॉ जो गय सकतय हूॉ | 
भेये ‘भैं’ की सॊऻय बी इतनी वमयऩक है, 
इसभें भुझ-से अगखणत प्रयणी आ जयते हैं | 
भुझको अऩने ऩय अदम्म ष्टर्श्वयस यहय है | 
भैं िॊडहय को ढ़पय से भहर फनय सकतय हूॉ | 
जफ-जफ बी भैंने िॊडहय आफयद ढ़कए हैं, 
प्ररम-भेघ बूचयर देि भझुको शयभयए | 
भैं भजदयू भुझे देर्ों की फस्ती से क्मय, 
भैंने अगखणत फयय धयय ऩय स्र्गव फनयए | 
उऩमुवक्त कयवम-ऩॊष्टक्तमों भें ढ़कसकय भहत्र् प्रनतऩयढ़दत ढ़कमय गमय है ?                  

 

स्र्गव के प्रनत भजदयू की ष्टर्यष्टक्त कय क्मय कययण है ?                             

 

ढ़कन कढ़ठन ऩरयखस्थनतमों भें बी भजदयू ने अऩनी ननबवमतय प्रकट की है ?             

 

भेये ‘भैं’ की सॊऻय बी इतनी वमयऩक है इसभें भझु-से अगखणत प्रयणी आ जयते हैं 
| 
उऩमुवक्त ऩॊष्टक्त कय बयर् स्ऩि कीखजए |                                        

 

अऩनी शष्टक्त औय ऺभतय के प्रनत भजदयू ने क्मय कहकय अऩनय आत्भ-ष्टर्श्वयस 
प्रकट  ढ़कमय है ?                                                                 

(7) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(1) 

 

(1) 

 

(1) 

 

(2) 

 
 

(2) 

 

 अथवा  

 

 

 हॉसते खिरखिरयते यॊग-ष्टफयॊगे पूर क्मययी भें देिकय  

जी तपृ्त हो गमय | 
नथुनों से प्रयणों तक खिॊच गई  
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गॊध की रकीय सी  

आॉिों भें हो गई यॊगों की फयसयत  

अनयमयस कह उठय  

र्यह ! 
धन्म है र्सॊत ऋतु | 
रौटने को ऩैय ज्मों फियमे तो 
क्मययी के कोने भें दफुकय एक नन्हय पूर अचयनक फोर ऩड़य : 
सुनो  

एक छोटय-सय सत्म तुम्हें सौंऩतय हूॉ 
धन्म है र्सॊत ऋतु, ठीक है 

ऩय उसकी धन्मतय उसकी कभयई नहीॊ   

र्ह हभने यची है, 
हभने  

मयनी भैंने  

भुझ जैसे भेये अननगनत सयनथमों ने –  

खजन्होंने इस क्मययी भें अऩने-अऩने ठयॉर् ऩय 

धूऩ औय फयसयत, 
जयड़य, औय ऩयरय झेर 

सूयज को तऩय है ऩूयी आमु एक ऩयॉर् ऩय 

तुभने ऋतु को फियनय, 
ऩय क्मय कबी ऩर बय बी 
तुभ उस रौ को बी देि सके 

खजसके फर  

भैंने औय इसने औय उसने  

मयनी भेये एक-एक सयथी ने  

नभट्टी कय अॉधेयय पोड़  

सूयज से आॉिें नभरयई हैं ? 

उसे मढ़द जयनते तो तुभसे बी 
यॊग जयती एक ऋतु | 

 

(1) 

(2) 

(3) 

पूर ने कष्टर् को कौन-सय छोटय-सय सत्म सौंऩय ?                          

र्सॊत की धन्मतय को ढ़कसने यचय है ?                                  

पूर औय उसके सयनथमों ने नभट्टी कय अॉधेयय पोड़कय ढ़कससे आॉिें नभरयई हैं ?  

(1) 

(1) 

(1) 
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(4) 

(5) 

 

पूरों औय उसके जैसे अननगनत सयनथमों ने क्मय ढ़कमय है ?                 

हॉसते खिरखिरयते पूरों को देि कष्टर् को क्मय अनुबर् हुआ ?               

 

(2) 

(2) 

 

 खींड-‘ख’ 
  (व्याविाररक व्याकरण)                       

अॊक-15 

3 

1 

 
 

2 

 

3 

 

4 

ननदेशयनुसयय ढ़कन्हीॊ तीन कय उत्तय नरखिए-                               

मुर्य धनधुवय को सेनयऩनत ने मुद्ध भें बेजय |  

(नभश्र र्यक्म भें फदनरए) 

भैं ष्टर्द्यरम ऩहुॉचय ऩयन्तु घॊटी फज चुकी थी |  

(सयर र्यक्म भें फदनरए) 

जो भन रगयकय कयभ कयते हैं, उन्हें सपरतय नभरती है |  

(आनश्रत उऩर्यक्म छयॉटकय बेद बी नरखिए) 

भेयी भयॉ चयहती हैं ढ़क भैं अच्छय इॊसयन फनूॉ |  

(येियॊढ़कत उऩर्यक्म कय बेद नरखिए) 

 

(1x3=3)         

4 

 
1 

2 

3 

4 

5 

ननम्ननरखित र्यक्मों भें से ढ़कन्हीॊ चयय र्यक्मों कय ननदेशयनुसयय र्यच्म ऩरयर्तवन 
कीखजए-   

भोहन से ऩैदर चरय नहीॊ जयतय |          (कतृवर्यच्म भें फदनरए) 

आओ, र्हयॉ फैठे |                       (बयर्र्यच्म भें फदनरए) 

ढ़कसयन िेतों भें फीज फोतय है |            (कभवर्यच्म भें फदनरए) 

छयत्रों द्वययय ऩयठ मयद ढ़कमय जयतय है |      (कतृवर्यच्म भें फदनरए)  

ऩऺी आकयश भें उड़ेंगे |                   (कभवर्यच्म भें फदनरए) 

(1x4=4)           

5 

 
1 

2 

3 

4 

5 

5 ननम्ननरखित र्यक्मों भें से ढ़कन्हीॊ चयय र्यक्मों के येियॊढ़कत ऩदों कय ऩद-ऩरयचम 
नरखिए-                                

सूमोदम हुआ औय ऩऺी चहचहयने रगे |  

र्ीय ऩुरुर्ों कय सर्वत्र आदय ढ़कमय जयतय है | 
अध्मयष्टऩकय ने फच्चों को एक कहयनी सुनयई | 
अर्नन कर आएगी | 
इरयहयफयद भें तीन नढ़दमों कय सॊगभ है |  

(1x4=4) 

6 

1 

2 

 

ननम्ननरखित प्रश्नों भें से ढ़कन्हीॊ चयय प्रश्नों के उत्तय दीखजए –                      
‘र्ीय’ यस कय एक उदयहयण नरखिए | 
ननम्ननरखित कयवम ऩॊष्टक्तमों भें यस ऩहचयन कय नरखिए- 

एक ओय अजगयढ़ह रखि, एक ओय भगृययम | 

(1x4=4) 
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3 

4 

5 

ष्टर्कर फटोही फीच ही ऩयमो भूयछय ियम ||  

‘ननर्ेद’ ढ़कस यस कय स्थयमी बयर् है ? 
करुण यस’ कय स्थयमी बयर् क्मय है ? 

घखृणत र्स्तओुॊ को देिकय अथर्य उनके फयये भें सुनकय भन भें जो बयर् उत्ऩन्न 
होतय है, उससे ढ़कस यस की वमुत्ऩष्टत्त होती है ? 

 खींड-‘ग’ 
           (ऩाठ्य ऩस्िक एवीं ऩररक ऩाठ्य ऩस्िक)               

अींक-
30 

7 ननम्ननरखित गद्यॊश को ध्मयनऩूर्वक ऩिकय ऩूछे गए प्रश्नों के उत्तय नरखिए-   

भैं नहीॊ जयनतय इस सॊन्मयसी ने कबी सोचय थय मय नहीॊ ढ़क उसकी भतृ्मु ऩय कोई 
योएगय रेढ़कन उस ऺण योने र्यरों की कभी नहीॊ थी | (नयभ आॉिों को नगननय 
स्मयही पैरयनय है |) इस तयह हभयये फीच से र्ह चरय गमय जो हभभें से सफसे 
अनधक छयमयदयय पर-पूर गॊध से बयय औय सफसे अरग, सफकय होकय, सफसे 
ऊॉ चयई ऩय, भयनर्ीम करुणय की ढ़दवम चभक भें रहरहयतय िड़य थय | खजसकी 
स्भनृत हभ सफके भन भें (जो उनके ननकट थे) ढ़कसी मऻ की ऩष्टर्त्र आग की 
आॉच की तयह आजीर्न फनी यहेगी | भैं उस ऩष्टर्त्र ज्मोनत की मयद भें श्रद्धयनत हूॉ 
|   

(5) 

1 

2 

3 

नभ आॉिों को नगननय स्मयही पैरयनय है ’ ऐसय रेिक ने क्मों कहय ?          

रेिक ने फ़यदय के नरए ढ़कन-ढ़कन ष्टर्शेर्णों कय प्रमोग ढ़कमय है औय क्मों ?      

गद्यॊश भें फ़यदय की स्भनृत को ढ़कसके सभयन फतयमय गमय है ?                           

(2) 

(2)  

(1) 
8 

1 

 

2 

3 

4 

5 

ननम्ननरखित प्रश्नों भें से ढ़कन्ही चयय प्रश्नों के उत्तय सॊऺ ेऩ भें नरखिए-               

हयरदयय सयहफ के नरए कौन-सय कौतूहर ददुवभनीम हो उठय, खजसे ऩयनर्यरे से ऩूछे 
ष्टफनय नहीॊ यह सके ? 

फयरगोष्टफन बगत की ढ़दनचमयव रोगों के अचयज कय कययण क्मों थी ? 

रेखिकय भन्नू बॊडययी अऩने ही घय भें हीन बयर्नय कय नशकयय क्मों हो गई ? 

उस्तयद ष्टफखस्भल्रय ियॊ कयशी छोड़कय अन्मत्र क्मों नहीॊ जयनय चयहते थे ?  

नर्यफ सयहफ िीयय ियने के अऩने ढॊग के भयध्मभ से क्मय ढ़दियनय चयहते थे ? 

(2x4=8)                

9 ननम्ननरखित कयवमयॊश को ध्मयनऩूर्वक ऩिकय ऩूछे गए प्रश्नों के उत्तय नरखिए-            
      

ऊधौ, तुभ हौ अनत फड़बयगी | 
अऩयस यहत सनेह तगय तैं, नयढ़हन भन अनुययगी | 
ऩुयइनन ऩयत यहत जर बीतय, तय यस देह न दयगी | 
ज्मों जर भयहॉ तेर की गयगरय, फूॉद न तयकौं रयगी | 
प्रीती-नदी भैं ऩयऊॉ  न फोयमौ, दृष्टि न रूऩ ऩययगी | 
‘सूयदयस’ अफरय हभ बोयी, गुय चयॊटी ज्मौं ऩयगी ||  

(5) 
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गोष्टऩमों ने क्मय कहकय उद्धर् ऩय वमॊग्म ढ़कमय है ?                                    
1 

2 

3 

गोष्टऩमों ने क्मय कहकय उद्धर् ऩय वमॊग्म ढ़कमय है ?                                    

गोष्टऩमों ने उद्धर् के वमर्हयय की तुरनय ढ़कस-ढ़कस से की है औय क्मों ?          

गोष्टऩमों ने अऩनी तुरनय गुड़ से नरऩटी चीढ़टमों से क्मों की है ?               

(1) 

(2) 
(2) 

 
10 

1 

 
 
2 

 
3 

4 

 
5 

 

ननम्ननरखित प्रश्नों भें से ढ़कन्हीॊ चयय प्रश्नों के उत्तय सॊऺ ेऩ भें नरखिए-              

‘सॊगतकयय’ कष्टर्तय के आधयय ऩय स्ऩि कीखजए ढ़क सॊगतकयय जैसे वमष्टक्त सर्वगुण 
सम्ऩन्न होकय बी सभयज भें आगे न आकय प्रयम् ऩीछे ही क्मों यहते हैं ? 

धनुर् बॊग कयने र्यरी सबय भें एकष्टत्रत जन ‘हयम-हयम’ क्मों ऩुकययने रगे थे ? 
‘ययभ-रक्ष्भण ऩयशुययभ सॊर्यद’ ऩयठ के आधयय ऩय अऩने ष्टर्चयय नरखिए |   

र्तवभयन सॊदबों भें ‘कन्मयदयन’ कष्टर्तय ढ़कतनी उऩमकु्त है ? स्ऩि कीखजए| 
सयभयखजक ियखन्त भें सयढ़हत्म की बूनभकय भहत्र्ऩूणव होती है | ‘उत्सयह’ कष्टर्तय 
के आधयय ऩय इस कथन की सभीऺय कीखजए | 
मह ‘दॊतुरयत भुस्कयन’ कष्टर्तय भें ‘फयॉस औय फफूर’ ढ़कसके प्रतीक फतयए गए हैं ? 
इन ऩय नशशु की भुस्कयन कय क्मय असय होतय है ? 

(2x4=8)          

11 

 
‘भयतय कय अॊचर’ ऩयठ भें बोरयनयथ द्वययय चूहे के ष्टफर भें ऩयनी डयरनय फच्चों की 
ढ़कस भनोर्षृ्टत्त को प्रकट कयतय है ? क्मय मह उनचत है ? ऩशु-ऩखऺमों के सॊयऺण 
के उऩयम बी फतयइए |      

(4)                                                          

अथवा   
सभयचयय-ऩत्रों की जन-जयगयण भें क्मय बूनभकय होती है? ‘जॉजव ऩॊचभ की नयक’ 
ऩयठ के आधयय ऩय स्ऩि कीखजए | 

 

 खींड-‘घ’ 
                              ( ऱेखन )                               

अींक-20 

12 

 
ननम्ननरखित भें से ढ़कसी एक ष्टर्र्म ऩय ढ़दए गए सॊकेत ष्टफन्दओुॊ के आधयय ऩय  

    रगबग 200 से 250 शब्दों भें ननफॊध नरखिए-   
(10) 

 

1 

 
 
 
 
 
 
 

आऩदा प्रबींधन  

 प्रस्तयर्नय  

 प्रयकृनतक आऩदयएॉ  

 दोर्ी कौन 

 सयकयय की खजम्भेदययी  

 नयगरयकों के कतववम  

 उऩयम  
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2 

 
 
 
 
 
 
 

3 

 
 
 

 

सौर ऊिाश  

 प्रस्तयर्नय  

 सौय ऊजयव से तयत्ऩमव 
 सौय ऊजयव कय उत्ऩयदन  

 रयब 

 उऩसॊहयय 

  

अऩने तऱए जिए, िो क्या जिए 

 प्रस्तयर्नय  

 भनुष्म भें फिती स्र्यथवऩयतय  

 ऩयोऩकयय की प्रकृनत औय ऩूर्वजों की सीि  

 भयनर् जीर्न की सयथवकतय  

 उऩसॊहयय  
13 

 
दयूदशवन के भहयननदेशक  को ऩत्र नरिकय ययष्ट्रीम एकतय तथय सयम्प्रदयनमक 
सदबयर् फियने र्यरे कयमविभ प्रसयरयत कयने कय आग्रह कीखजए |                                              

(5) 

अथवा  
‘सयभयखजक सेर्य कयमविभ’ के अॊतगवत ढ़कसी गयॉर् भें सफ़यई अनबमयन के अनबुर्ों 
कय उल्रेि कयते हुए अऩने नभत्र को ऩत्र नरखिए |  

14 

 
आऩके भोहल्रे के ऩयकव  भें रड़ढ़कमों को आत्भ यऺय के गुण नसियने हेतु एक कैं ऩ 
रगयमय जय यहय है, इसके नरए एक ष्टर्ऻयऩन रगबग 20-25 शब्दों भें तैमयय 
कीखजए | 

(5) 

अथवा 
आधुननक सुष्टर्धयओॊ से ससुखज्जत घय ढ़कययए ऩय देने के नरए ष्टर्ऻयऩन रगबग 
20-25 शब्दों भें तैमयय कीखजए | 
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प्रतिदर्श प्रश्न – ऩत्र 
(2018-19) 
हिन्दी ‘ब’ 

कक्षा – दसव ीं 
तनधाशररि समय: 3 घींटे             अतधकिम अींक : 80 

 
 

 खींड – क 
(अऩहिि अींर्) 

 

प्र.-1 ननम्ननरखित गद्यॊश को ध्मयनऩूर्वक ऩढ़कय ऩूछे गए प्रश्नों के उत्तय दीखजए –  
सुि वर्श्वयस से ही उत्ऩन्न होतय है । सुि जड़तय से उत्ऩन्न होतय है । ऩुययने जभयने 
के रोग इसनरए सुिी थे कक ईश्वय की सतय भें उन्हें वर्श्वयस थय । उस जभयने के 
नभूने आज बी हैं, भगय रे् भहयनगयों भें कभ नभरते हैं । उनकय जभघट गयॉर्ों, कस्फों 
औय छोटे- छोटे नगयों भें हैं। इनके फहुत अनधक असॊतुष्ट न होने के कययण मह है कक 
जो चीज उनके फस भें नहीॊ है, उसे रे् अदृश्म की इच्छय ऩय छोड़कय ननखचॊत हो जयते 
हैं । इस प्रकयय सुिी रे् रोग होते हैं, जो सच्चे अथो भें जड़तयर्यदी है, क्मोंकक उनकी 
आत्भय ऩय कठिोदी नचकड़मय चोंच नहीॊ भययय कयती, ककॊ तु जो न जड़तय कय त्मयग 
कयतय है औय न ईश्वय के आखस्तत्र् कय। असरी रे्दनय उसी सॊदेहर्यदी भनुष्म की 
रे्दनय है । ‘ऩरयचम’ कय आधुननक फोध इसी ऩीड़य से ग्रस्त है । र्ह भनुष्म न तो 
जयनर्य की तयह िय–ऩीकय सॊतुष्ट यह सकतय है, न अदृश्म कय अर्रॊफ रेकय नचॊतय 
भुक्त हो सकतय है । इस अबयगे भनुष्म के हयथ न तो रोक यह गमय है, न ऩयरोक । 
रोक इसनरए नहीॊ कक र्ह जयनर्य फनकय जीने को तैमयय नहीॊ है औय ऩयरोक 
इसनरए कक वर्ऻयन उसकय सभथवन नहीॊ कयतय है । ननदयन, सॊदेहर्यद के झटके ियतय 
हुआ मह आदभी कदन-ययत व्मयकुर यहतय है, औय यह–यहकय अऩनी सभयनि की कल्ऩनय 
कयके अऩनी व्मयकुरतय कय येचन कयतय है । 

 

1.  ककस प्रकयय के इॊसयन सुिी होते हैं औय क्मों? 1. (2) 
2.  सॊदेह र्यदी कौन होतय है ? र्ह ननयॊतय ककस खस्थनत से गुजयतय यहतय है ? (2) 

3.  सॊदेह र्यदी रोक के सुि औय ऩयरोक के अनयदय से र्यॊनचत क्मों यहतय है ?  (2) 

समान्य तनदेर् : 
 इस प्रश्न–ऩत्र में चार खींड िै, क,ख,ग और घ । 

 चारो खींडों के प्रश्नों के उत्तर देना आतनवायश िै । 

 यथासींभव प्रत्येक खींड के प्रश्नों के उत्तर क्रमर्: दीजिए । 
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4.  सॊदेह-र्यद से ऩीकड़त व्मवक्त ननयॊतय ककस प्रकयय की अनुबूनत से व्मनथत यहतय है ? (2) 

5.  उऩमुवक्त गद्यॊश उऩमुक्त शीर्वक दीखजए ।   (1) 
प्र.-2 ननम्ननरखित कयव्मयॊश को ध्मयनऩूर्वक ऩढ़कय ऩूछे गए प्रश्नों के उत्तय नरखिए 

तू कहभयरम नहीॊ, तू न गॊगय- मभुनय 
तू विरे्णी नहीॊ, तू न ययभेश्वयभ 
तू भहयशीर की है अभय कल्ऩनय 
देश । भेये नरए तू ऩयभ र्ॊदनय । 
भेघ कयते नभन, नसॊधु गोदयर्यी 
है कययती मुगों से तुझे आचभन 
तू ऩुययतन फहुत, तू नए से नमय 

तू भहयशीर की है अभय कल्ऩनय । 
देश भेये नरए तू भहय – अचवनय 

शवक्त – फर कय सभथवक यहय सर्वदय 
तू ऩयभ तत्र् कय ननत वर्चययक यहय । 

 

1.  कवर् कय देश को ‘भहयशीर की अभय कल्ऩनय’ कहने से क्मय तयप्ऩमव है ? (2) 

2.  बययत देश ऩुययनय होते हुए बी ननत नूतन कैसे है ? (2) 

3.  देश कय सत्कयय प्रकृनत ककस प्रकयय कयती है ? कयव्मयॊश के आधयय ऩय स्ऩष्ट कीखजए ।   (2) 

 अथवा  
 भेघ आए फड़े फन-ठन के सॉर्य के। 

आगे-आगे नयचती-गयती फमयय चरी, 
दयर्यजे-खिड़ककमयॉ िुरने रगी गरी-गरी। 
ऩयहुन ज्मों आए हो गयॉर् भें शहय के। 
भेघ आए फड़े फन-ठन के सॉर्य के।। 
ऩेड़ झुक झयॉकने रगे गयदन उचकयए, 
आॉधी चरी, धूर बयगी घयघयय उठयए, 
फूढे़ ऩीऩर ने आगे फढ़कय जुहयय की 

फयस फयद सुनध रीन्ही-फोरी अकुरयई रतय ओट हो ककर्यय की 

 

(क)  ऩयहुन ककसे कहय गमय है औय क्मों? (2) 
(ख)  फन-सॉर्य कय कौन आमय औय उससे क्मय-क्मय ऩरयर्तवन हुए? (2) 
(ग)  फूढ़य ऩीऩर ककसके रुऩ भें है औय उसने क्मय ककमय? (2) 
 खींड – ख  

प्र.-3 शब्द कफ ऩद कय रूऩ रे रेते हैं ? उदयहयण सकहत स्ऩष्ट कीखजए ।  (2) 
 अथवा  
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 ऩद कहरयने के नरए शब्द के अऩने स्र्रूऩ भें क्मय ऩरयर्तवन रयनय ऩड़तय है ?  
उदयहयण सकहत स्ऩष्ट कीखजए।  

 

प्र.-4 नीचे नरिे र्यक्मों भें से ककन्हीॊ तीन र्यक्मों कय ननदेशयनुसयय यचनय के आधयय ऩय र्यक्म        
रूऩयॊतयण कीखजए - 

(3) 

(क)  फयरक योमय औय चुऩ हो गमय ।       (सयर र्यक्म)  
(ि)  सूमोदम होने ऩय ऩऺी चहचहयने रगे । (सॊमुक्त र्यक्म)  
(ग)  तुभ गयड़ी रुकने के स्थयन ऩय चरे जयओ । (नभश्र र्यक्म)   
(घ)  र्ह ऩविकय ऩढ़ने के नरए ऩुस्तकयरम गमय। (सॊमुक्त र्यक्म)  

  प्र.-5     
      
(क) 

ननम्ननरखित शब्दों भें से ककन्ही दों शब्दों कय सभयस-वर्ग्रह कयते हुए सभयस कय नयभ 
नरखिए।   
स्नेहभग्न, अॊधकूऩ, शतयब्दी  

(2) 

     (ि) ननम्ननरखित भें से ककन्ही दो के सभयस – वर्ग्रह को सभस्त ऩद भें ऩरयर्नतवत कयके     
सभयस कय नयभ  नरखिए –  

(2) 

(अ
) 

झड़ जयते हैं ऩते्त खजस ऋतु भें  

(फ) ऩेट बय कय  
(स
) 

सुि औय दिु  

  प्र.-6     ननम्ननरखित र्यक्मों भें से ककन्ही चयय र्यक्मों को शदु्ध कयके ऩुन: नरखिए - (4) 
(क
) 

हर्यई अड्डे ऩय प्रधयनभॊिी ऩहुॉचे ।  

      
(ि) 

‘गोदयन’ उऩन्मयस भुॊशी पे्रभचॊद ने नरिय ।  

(ग
) 

उसने तयह–तयह के चभड़े के जूते ियीदे ।  

(घ
) 

केर्र भयि महयॉ दो ऩुस्तकें  हैं ।  

(ड) ियगोश को कयटकय गयजय खिरयओॊ  
  प्र.-7     रयक्त स्थयनों की ऩूनतव उनचत भुहयर्यों द्वययय कीखजए - (2) 

(क
) 

र्ह स्र्बयर् से इतनय उग्र है कक फयत–फयत ऩय ........................ है ।  

      
(ि) 

गुिचय वर्बयग कय कयभ मही है कक र्ह असयभयखजक तत्र्ों की प्रत्मेक गनतवर्नध ऩय 
............. । 
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(ग
) 

ततयॉयय ककनयये ऩय िड़य र्यभीयों की .................. थय।  

 खींड – ग  
  प्र.-8     ननम्ननरखित प्रश्नों के उत्तय दीखजए  

(क
) 

रेिक ने व्मयर्हयरयकतय को सभयज के नरए अच्छय क्मों नहीॊ भयनय ?  (2) 

      
(ि) 

सभुद्र के गुस्से की र्जह क्मय थी ? उसने अऩनय गसु्सय कैसे ननकयरय? (2) 

(ग
) 

तॉतययय की तरर्यय के फयये भें रोगों की क्मय ययम थी ? (1) 

 अथवा  
  कौंनसर की ओय से क्मय नोकटस ननकरय ?  
  प्र.-9     ऩयठ ‘फड़े बयई सयहफ’ के आधयय ऩय छोटे बयई के व्मवक्तत्र् कय नचिण कीखजए। (5) 

 
अथवा  

र्जीय अरी सच्चे भयमनो भें जॉफयज नसऩयही थय – कथन की ऩुवष्ट कीखजए ।  
  प्र.-10     ननम्ननरखित प्रश्नों के उत्तय दीखजए –   

(क
) 

वफहययी के दोहों के आधयय ऩय स्ऩष्ट कीखजए कक सच्चे भन भें ईश्वय फसते हैं? (2) 

      
(ि) 

‘सय ऩय कपन फयॉधनय’ ककस ओय सॊकेत कयतय है ?  (2) 

(ग
) 

कवर् ने तयरयफ की सभयनतय ककससे की है ?  (1) 

 अथवा  
 भीयय श्रीकृष्ण के सभीऩ यहने के नरए क्मय कयने को तैमयय है? 

 
 

  प्र.-11     ‘आत्भियण’ कवर्तय अन्म प्रयथवनयओॊ से ककस प्रकयय अरग है ? (5) 
अथवा  

कफीय के दोहों की प्रयसॊनगकतय स्ऩष्ट कीखजए । 
  प्र.-12     ‘हरयहय कयकय’ ऩयठ के आधयय ऩय फतयइए कक धभव के नयभ ऩय ककस तयह सयधययण जन 

की बयर्नयओॊ से िेरय जयतय है? 
(5) 
 

        अथवा 
वर्द्यनथवमों को अनुशयसन भें यिने के नरए ऩयठ ‘सऩनों के से कदन’ भें अऩनयई गई 
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मुवक्तमों औय र्तवभयन भें स्र्ीकृत भयन्मतयओॊ के सॊफॊध भें वर्चयय प्रकट कीखजए। 
     (खींड – घ)  

  प्र.-13   ननम्ननरखित भें से ककसी एक वर्र्म ऩय 80-100 शब्दों भें अनुच्छेद नरखिए   (5) 
 प्ऱाजटटक की दतुनया – कृविभ ऩदयथव प्रमोग .... गुण- अर्गुण ..... हयननमयॉ ..... 

खिम्भेदययी । 
कैसा र्ासन बबन अनुर्ासन – अनुशयसन की आर्श्मकतय ........ देश की र्तवभयन 
खस्थनत .......... अनुशयसनहीनतय के कययण ............... न्मयम भें देयी कय सभयधयन । 
सऩने में अींिररक्ष की यात्रा – बूनभकय ............ अॊतरयऺ भें ऩहुॉचनय ........... भ्रभण कय 
अनुबर् र्यस्तवर्क खस्थनत भें र्यऩसी । 

  प्र.-14   अऩने सेर्यननर्तृ ऩूर्व अध्मयऩक को उनकी उऩरखब्धमों की सययहनय कयते हुए धन्मर्यद–
ऻयऩन ऩि नरखिए । 

(5) 
 

अथवा 
कऺय के प्रनतनननध होने के नयते गखणत वर्र्म को फेहतय कयने के नरए कऺय की तयप 
से गखणत वर्र्म के नरए अनतरयक्त कऺयओॊ की व्मर्स्थय के नरए प्रधयनयचयमव को ऩि 
नरखिए । 
 

  प्र.-15   आऩ अऩने वर्द्यरम भें एन.सी.सी. के छयि प्रनतनननध हैं । गणतॊि कदर्स सभययोह की 
ऩयेड भें कहस्सय रेने भें इच्छुक छयिों हेतु 25-30 शब्दों भें सूचनय तैमयय कीखजए । 

(5) 
 

अथवा  
आऩ वर्द्यरम के छयि सॊघ के सनचर् है । वर्द्यरम भें भोफयइर ननरे्ध है । इससे 
सॊफॊनधत सूचनय जययी कयते हुए 25-30 शब्दों भें सूचनय तैमयय कीखजए । 
 

 

  प्र.-16   जरबययर् की नशकयमत रेकय गए नयगरयक औय नगय ऩयनरकय अध्मऺ के फीच होने 
र्यरे सॊर्यद को रगबग 50 शब्दों भें नरखिए । 

(5) 
 

अथवा 
    एक घयमर व्मवक्त को सड़क ऩय देिकय दो नभिों के फीच होने र्यरे सॊर्यद को रगबग 

50 शब्दों भें नरखिए।  
  प्र.-17   कुछ व्मवक्तगत कययणों से आऩने अऩने नयभ भें कुछ फदरयर् ककए हैं, उससे सॊफॊनधत 

रगबग 50 शब्दों भें एक वर्ऻयऩन कय आरेि तैमयय कीखजए । 
 

(5) 
 

अथवा 
गनभवमों की छुखटटमों भें आऩने एक नतृ्म सॊस्थयन िोरय है । उससे सॊफनधत रगबग 50 
शब्दों भें एक वर्ऻयऩन कय आरेि तैमयय कीखजए । 
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Class-X 
Science-086 

SAMPLE QUESTION PAPER-19 
 

TIME: 3 Hrs.          M.M.:80   
     

General Instructions:  
 

(i)      The question paper comprises of five sections – A, B, C, D and E. You are to attempt all the sections.  
(ii)     All questions are compulsory.  
(iii)    Internal choice is given in sections B, C, D and E.  
(iv)    Question numbers 1 and 2 in Section-A are one mark questions. They are to be answered in one word 

or in one sentence. 
(v)     Question numbers 3 to 5 in Section- B are two marks questions. These are to be answered in about 30 

words each.  
(vi)    Question numbers 6 to 15 in Section-C are three marks questions. These are to be answered in about 

50 words each.  
(vii)   Question numbers 16 to 21 in Section-D are 5 marks questions. These are to be answered in about 70 

words each. 
(viii)  Question numbers 22 to 27 in Section- E are based on practical skills. Each question is a two marks 

question. These are to be answered in brief.                                               
 

  
 

SECTION A 

1. Name a common nutrient that is absorbed in the small intestine and reabsorbed by the kidney tubules.          1 

2. The presence of a particular group of bacteria in water bodies indicates contamination. Identify the group.         1 

SECTION B 

3. How is Magnesium Chloride formed by the transfer of electrons? Why does the solution of Magnesium chloride 
conduct electricity?                                          2 

4. In a flowering plant, summarize the events that take place after fertilization.                                                             2 

5. A ray of light enters into benzene from air. If the refractive index of benzene is 1.50, by what percent does the speed 
of light reduce on entering the benzene?                                                                                          2 
 

OR 
 

For the same angle of incidence in media A,B and C, the angles of refraction are  200, 300 and 400 respectively. In 
which medium will the velocity of light be maximum? Give reason in support of your answer. 
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6. What happens when aqueous solutions of Sodium sulphate and Barium chloride are mixed? Give a balanced 
equation for the reaction with state symbols. Name and define the type of chemical reaction involved in the above 
change.                        2 

SECTION C 

7. Identify the compound of calcium which is used for plastering of fractured bones. With the help of chemical 
equation show how is it prepared and what special precautions should be taken during the preparation of this 
compound.                        3 

OR 

‘Sweet tooth may lead to tooth decay’. Explain why? What is the role of tooth paste in preventing cavities? 

8. The electronic configuration of an element ‘X’ is 2,8,6. To which group and period of the modern periodic table 
does ‘X’ belong .State it valency and justify your answer in each case.           3 

9. Pertaining to endocrine system, what will you interpret if-                    3 

i) You observe swollen neck in people living in the hills 
ii) Over secretion of Growth Hormone takes place during childhood 
iii) Facial hair develops in boys aged 13. 
 
10. A variegated leaf with green and yellow patches in used for an experiment to prove that chlorophyll is required for 
photosynthesis. Before the experiment the green portions (A), and the pale yellow portions (B), are observed. What 
will be the colour of ‘A’ just before and after the starch test? Also write the equation of photosynthesis and mark, as 
well as validate from which molecule the by-product is obtained.                         3 
 

 
11. The image of an object formed by a mirror is real, inverted and is of magnification -1. If the image is at the distance 
of 30 cm from the mirror, where is the object placed? Find the position of the image if the object is now moved 20 cm 
towards the mirror. What is the nature of the image obtained? Justify your answer with the help of ray diagram.       3 
 

OR 
 

What is meant by power of a lens? You have three lenses L1, L2 and L3 of powers +10D, +5D and -10D respectively. 
State the nature and focal length of each lens. Explain which of the three lenses will form a virtual and magnified 
image of an object placed at 15 cm from the lens. Draw the ray diagram in support of your answer. 
 
12. Two lamps, one rated 100 W at 220 V and the other 200 W at 220V are connected (i) in series and (ii) in parallel to 
electric main supply of 220V. Find the current drawn in each case.                   3 
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13. The figure below shows three cylindrical copper conductors along with their face areas and lengths. Compare the 
resistance and the resistivity of the three conductors. Justify your answer.       3 
 
 
 

 

 
             
3 
 
14. What is biogas? Describe the steps involved in obtaining biogas.                 3 
 
15. How is ozone both beneficial and damaging? How can depletion of ozone layer be prevented?             3 
 

OR 
 

The flow of energy between various components of the environment has been extensively studied. List four findings. 
 

SECTION D 
 

16. a) How will you show experimentally that metals are good conductors of heat.                      5 
      b) Describe the extraction of Mercury metal from its ore Cinnabar (HgS). 
 
17. A compound A (C2H4O2) reacts with Na metal to form a compound ‘B’ and evolves a gas which burns with a pop 
sound. Compound ‘A’ on treatment with an alcohol ‘C’ in presence of an acid forms a sweet smelling compound ‘D’ 
(C4H8O2). On addition of NaOH to ‘D’ gives back B and C. Identify A, B, C and D write the reactions involved.          5 

OR 

a) Explain why carbon forms covalent bond? Give two reasons for carbon forming a large number of compounds. 

b) Explain the formation of ammonia molecule. 

 
18. a) Draw the diagram of female reproductive system and match and mark the part(s):               5 
  i) Where block is created surgically to prevent fertilization. 
  ii) Where Copper-T is inserted? 
  iii) Inside which condom can be placed. 
 
b) Why do more and more people prefer to use condoms? What is the principle behind use of     condoms? 
 
19. Name the phenomenon that governs the following: -                5 

i) Green beetles living in green bushes are not eaten by the crows. 
ii) Number of blue beetles in green bushes increases, only because the red beetles living there were trampled by a    

herd of elephants. 

L 

A 

(a) 

A/3 

3L 

(b) 

(c) 

L/3 

3A 
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iii) No ‘medium height plants’ are obtained in F1 generation, upon crossing pure tall and dwarf pea plants. 
iv) Tails of mice were surgically removed for several generations; still mice had tails in the following generations. 
v) A migrant beetle reproduces with the local population; as a result genes of migrant beetle enter the new 
population. 

OR 
 

a) What are fossils and how is age of fossils determined? 
b) During artificial selection, which features of wild cabbage were selected to give rise to i) Cabbage ii) Cauliflower 

 
 

20. (a)What is meant by the term ‘power of accommodation’? Name the component of eye that is responsible for the 
power of accommodation.                                 5 

(b) A student sitting at the back bench in a class has difficulty in reading. What could be his defect of vision? Draw ray 
diagrams to illustrate the image formation of the blackboard when he is seated at the (i) back seat (ii) front seat. State 
two possible causes of this defect. Explain the method of correcting this defect with the help of a ray diagram. 

21. (i) With the help of an activity, explain the method of inducing electric current in a coil with a moving magnet. 
State the rule used to find the direction of electric current thus generated in the coil.                         5 

(ii) Two circular coils-1 and coil-2 are kept close to each other as shown in the diagram.Coil-1 is connected to a battery 
and key and coil-2with a galvanometer. State your observation in the galvanometer: 

 

 

(a) When key K closed ;  (b)  when key K is opened; 
 Give reason for your observations. 

 
OR 

Name a device which converts mechanical energy into electrical energy. Explain the underlying principle and working 
of this device with the help of a labelled diagram. 
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SECTION E 
 

22. When few drops of phenolphthalein are added to a dilute solution of sodium hydroxide a pink colour is produced. 
What will be 
the colour of 
the final 

mixture 
when excess 
of HCl is 
added to it? 
(justify your 

answer) 
          2 

                                                                   OR 

Arrange the metals iron, magnesium, zinc and copper in the increasing order of their reactivity. 

What will be the two observations made by the student when iron filings are added to copper sulphate solution?          2 

 

23. From an experiment to study the properties of acetic acid. Answer the following questions:               2 

a) Name the substances which on addition to acetic acid produce carbon dioxide gas. Give relevant chemical 
equation for the above? 

b) How is CO2 gas tested in the laboratory?                   

24. When observed under high power of the microscope, ‘chain of buds’ is visible in the2 microscopic view. In which 
organism can it be observed? Explain the process.              

OR  
In the experimental set up on ‘CO2 is released during respiration,’ if one forgets to keep the vial with KOH in the 
conical flask, how will the result vary? Give details.                                                                          2 
 

25. You soak seeds of bean and observe them after 2-3 days. Lit four observations?              2 
 

26. The current flowing through a resistor connected in an electrical circuit and the potential difference developed 
across its ends are shown in the given ammeter and voltmeter. Find the least count of the voltmeter and ammeter .What 
is the voltage and the current across the given resistor?                         2 

27. Consider the path of a ray of light passing through a rectangular glass slab for different angles of incidence. (i) 
Which one is greater: angle of incidence or angle of refraction? (ii) What happens to the emergent angle on increasing 
the incident angle at air-glass interface?   (iii) State the conditions when no bending occurs.                                   2 

 

 

 

Re-uploaded at Learnmate 



 

 

 

 

OR 

Sunita  takes a mirror which is depressed at the centre and mounts it on a mirror stand. An erect and enlarged 
image of her face is formed. She places the mirror on a stand along a meter scale at 15 cm mark. In front of 
this mirror, she mounts a white screen and moves it back and forth along the meter scale till a  sharp, well-
defined inverted image of a distant tree is formed on the screen at 35 cm mark. 

(i) Name the mirror and find its focal length. 

(ii) Why does Sunita  get sharp image of the distant building at 35 cm mark? 
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1 
 

General Instructions: 

 

This question paper contains five sections A, B, C, D and E. 

In every section internal and external choice question is given. 
Questions No. 1 to 8 are of 1 mark each and to be answered in one word or one sentence each. 

Questions No. 9 to 16 are of 2 marks each and to be answered in approximately 20-30 words each. 

Questions No. 17 to 19 are of 3 marks each and to be answered in approximately 30-50 words each. 

Questions No. 20 to 27 are of 4 marks each and to be answered in approximately 60-80 words each. 

Questions No. 28 to 32 are 5 marks each and to be answered in approximately 80-120 words each. 

Class X 

Home Science (064) 

Sample Question Paper 2018-19 

 

Time allowed: 3 Hours Max. Marks: 75 

 

 

 

                                                                  Section-A  

 
Note- Attempt any 7 questions out of the given 8. 
 

1. “The old age needs special care.” Justify the statement with the help of one example. 
 

OR 

 
List any two safety measures you will keep in mind for your old grandmother at home. 
 

1 

2. List any two common features of childhood. 
 

1 

3. What will you do if an article is excessively blued in color? 
 

OR 
 

Name any two cleaning agents which are used while washing clothes. 
 

1 

4. Define food hygiene. 
 

OR 
 

Define Balanced diet. 
 

1 

5. What do you understand by the term dovetailing? 
 

1 

6. What is RDA? 
 

1 

7. Why is it important to sterilize dustbin? 
 

1 

8. List any two factors affecting the safety of food at home. 
 
 

1 
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2 
 

 

 

Section – B 

 
Note- Attempt any 7 questions out of the given 8. 
 

9. How does playing influence physical development of a child? Explain with two examples. 
 

OR 
 

“Play influences mental development of a child” Justify the statement with the help of two examples. 

 

2 

10. Write any four ways of reducing psychological fatigue. 
 

OR 
 

Write any four ways of reducing physical fatigue. 
 

  2 

11. Explain any two reasons of saving money in our lives to your younger sister 
 

2 

12. How can you keep your kitchen free from pests? Write any four points. 
 

2 

13. Discuss any four points that you would consider while planning balanced diet for a family. 
 

2 

14. Expand FSSAI and draw its logo. 
 

2 

15. Define consumer education. List the name of any one government and one non- government agency 
providing consumer education. 
 

2 

16. Write any four characteristics of Adulthood. 
 

2 

 

Section – C  

 

Note- Attempt any 2 questions out of the given 3. 
 

17. Your mother has invited her friend for dinner. She wants to bring a variety in meals. Suggest 

any three ways of doing this to her. 

 

OR 
 

How do occupation, occasion and climate influence meal planning? Explain with the help of 

one example of each. 

 

3 

18. Ms. Singh found holes in her silk saree which was stored in a box during summer season. 
Give three possible reasons for it. Write three precautions which we should take to avoid this 
problem. 
 

3 

19. What is the difference between Heavy, Moderate and Light work? Give one example of each. 

 

3 
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3 
 

 
 
 

Section – D  

 

Note- Attempt any 7 questions out of the given 8 
 

20. Explain any four advantages of meal planning to your mother. 
 

4 

21. You want to gift a readymade pant to your father on his birthday. Write four points you 

will check to ensure its quality. 

 

OR 

 

What four points of workmanship will you check while buying your school blazer? 
 

4 

22. Your grandmother has purchased 1litre vegetable oil from a local vendor. Name any one 

adulterant which may be present in it. Also write its harmful effect on human body. Describe 

the two rules which she should follow while buying any food product from the market. 

 

4 

23. State four rules of hygiene which you should follow while serving food. 
 

OR 

 

State four rules of personal hygiene which you should follow while working in kitchen. 
 

4 

24. Which four precautions will you take while storing milk and milk products? 
 

4 

25. What four points will you observe regarding safety of a toy for two year old child? 
 

4 

26. Explain any four work simplification methods, with the help of suitable examples. 
 

4 

27. Guide your friend by detailing the procedure of removing old tea stain from white cotton 
shirt. Also guide him/her about the precautions to be followed while removing stains from any 
garment. 

 

4 

       Section – E 
 

Note- Attempt any 4 questions out of the given 5. 
 

28. Write three common problems faced by your classmate and suggest two ways to deal with 
these problems. 
 

5 

29. What do you mean by family income? Differentiate between money income and real 

income. Give two examples of each. 

 

OR 
 

Explain  three elements of family income with suitable example of each and also write two 

ways of increasing family income. 

5 
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4 
 

 
 
30. 

 
 
What is therapeutic diet? Explain its types based on consistency with one example of each. 
Write any two advantages of using therapeutic diet. 
 

 
 
5 

31. You have to prepare for your board examination. Make a time plan for a day for yourself. 

Write any two advantages of making a time plan. 

 

5 

32. Plan a sample menu for a day for your family and specify each food group included in it. 
Name one major nutrient found in each food group. 
 

5 
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CLASS X  

SOCIAL SCIENCE (CODE 087) 

SAMPLE QUESTION PAPER 2018-19 

 

 Time Allowed: 3 Hours                                                                            Maximum Marks: 80  

   

 General Instructions: 

a) The question paper is divided into four sections – Section A, Section B, Section C and 

Section D. 

b) The question paper has 26 questions in all.   

c) All questions are compulsory. 

d) Marks are indicated against each question. 

e) Questions from serial number 1 to 7 are very short answer type questions. Each question 

carries one mark. 

f) Questions from serial number 8 to 18 are 3 marks questions. Answer of these questions 

should not exceed 80 words each. 

g) Questions from serial number 19 to 25 are 5 marks questions. Answer of these questions 

should not exceed 100 words each. 

h) Question number 26 is a map question of 5 marks with two parts -26 A from History (2 

marks) and 26 B from Geography (3 marks). 

 

 

                                                SECTION A                                  (1 X 7=7) 

 

 

1  Why did Slavic nationalist struggle in the 19
th

 century? Give one reason.                         

OR 

 Why did France take up the idea of civilizing mission during mid- nineteenth century? Give 

one reason. 

1 

   

2 Why did Charles Dickens write about the terrible effects of industrialisation on people’s lives 

and characters'? Give one reason. 

                                                                          OR 

Interpret any one fear in the minds of religious authorities and monarchs about the printed 

texts during 16
th

 century in Europe. 

1 

 

   

3 “Conservation of resource is vital for development.” Give one example regarding the 

statement. 

  OR 

“Degradation of land is a cause of worry.” Give one reason to support the statement. 

1 

 

   

4 Recognize the form of power sharing which is represented by the Community Government in 

Belgium. 

1 
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5 Why is money called a medium of exchange? 

OR 

Why do banks ask for collateral while giving loans? 

1 

   

6 The MNC’s of a country sets up a production jointly with the local company of other country. 

State any one benefit of this joint production to the local company. 

1 

   

7 Suppose you buy a bag of cement for the purpose of repair work in your house, which logo or 

mark will you look for? 

1 

 

                                SECTION B                                       (3 X 11=33) 
 

 

8 Describe the ideology of liberalism during early 19
th

 century.         

                                                                          OR 

Describe the role of Ho Chi Minh in the Vietnamese struggle for independence.  

3 

 

   

9 “Print culture created the conditions within which French Revolution occurred.” Support the 

statement with suitable arguments. 

                                                                        OR 

“Pariksha Guru is considered landmark in the history of Hindi novel.” Justify the statement 

with suitable arguments. 

3 

 

   

10 “Multi- purpose projects and large dams have come under great scrutiny.” Identify the 

problems caused by the setting up of these projects and dams. 

OR 

“India is heading towards water scarcity.” Trace the possible solutions to tackle this problem. 

3 

 

   

11 Establish the difference between Commercial farming and Subsistence farming with the help 

of a suitable example. 

3 

   

12 State any three important features of Federalism. 

OR 

State any three major steps taken by the Indian Government towards decentralization in 1992. 

3 

   

13 “In a democracy, political expression of social divisions is very normal and can be healthy.” 

Illustrate with suitable examples.  

3 

   

14 How is Democracy a better form of government when compared with dictatorship or any other 

alternative government?  

3 

   

15 ‘Sustainable Development is a crucial step for the development of a country’. Explain with 3 
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suitable examples. 

   

16 Why are formal sources of credit preferred over the informal source of credit? Give three 

reasons. 

OR 

Why is credit a crucial element in the economic development? 

3 

   

17 Critically examine the impact of globalization in India. 

OR 

Evaluate the role of MNCs in the economic development of a country. 

3 

   

18 “Consumer movement can be effective only with the consumer’s active involvement.” 

Keeping the statement in mind highlight the ways through which consumers can express their 

solidarity. 

3 

 

                                    SECTION C                                 (5 X 7 = 35) 

 

 

19 Describe the impact of Great Depression on Indian economy. 

                                                                     OR 

 Describe the impact of the First World war on Indian industries. 

                                                                     OR 

 Describe the effects of nineteenth century city development on ecology and environment?  

5 

   

20 The Civil Disobedience Movement saw the participation of different social classes and groups. 

Give reasons for the participation of the following: a) rich peasants b) poor peasants c) 

business classes d) industrial working classes e) women                                                      1x5 

                                                                        OR 

The middle classes played an important role in the Non-Cooperation Movement in the cities. 

Explain. Why do you think that the movement slowed down in the cities?                         3+2 

5 

 

   

21  Why are maximum Jute textile mills located in the Hugli Basin? 5 

   

22 “Advancement of international trade of a country is an index to its economic prosperity”. 

Elaborate with examples.  

5 

   

23 Mention any three forms in which communalism is expressed in politics. Describe the solution 

provided by the Constitution framers of India to meet this challenge?                 (3+2) 

5 

   

24 Illustrate the situations which display lack of internal democracy within a political party. 

OR 

Exhibit the role of money and muscle power among political parties during elections. 

5 
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25 Show how tertiary sector has emerged as the largest producing sector in India. 

 

5 

   

                         SECTION D                                   (1 X 5 = 5) 
 

 

26A Two places A and B are marked on the outline political map of India, identify these places 

with the help of following information and write their correct names on the lines marked near 

them: 

a.  The place where Jallianwala Bagh massacre happened. 

b. The place where Non- Cooperation Movement ended abruptly due to violence. 

                                                                                                                                       1X2 = 2 

2

+

3

=

5  

 

   

26B  Locate and label ANY THREE of the following with appropriate symbols on the same given 

outline political map of India. 

 

i. Rawat Bhata Nuclear power plant 

ii. Chhatrapati Shivaji Airport  

iii. Bhadravati - Iron and Steel plant     

iv. Noida Software Technology Park                                                                 

v. Vijaynagar Iron and Steel Industry                                                                           1X3 =3 

 

Note: The following questions are for the Visually Impaired candidates only in lieu of Q. 

No. 26. ANY FIVE to be attempted:                                                                            1X5 =5 

 

(i) Name the state where Indigo planters organized Satyagraha. 

(ii) Name the state where Non- Cooperation Movement ended abruptly due to violence. 

(iii) Name the state where Chhatrapati Shivaji Airport is located. 

(iv) Name the state where Bhadravati Iron and Steel Plant is located. 

(v) Name the state where Rawat Bhata Nuclear Power Plant is located. 

(vi) Name the software technology park in Uttar Pradesh. 

(vii)Name the iron and steel plant in Karnataka.  

 

 

 

 

 

 

Re-uploaded at Learnmate 



 
 

 

 

 

 

a 

b 

QUESTION 26 

A and 26 B 
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Class X 

Mathematics 
Sample Question Paper 2018-19  

 

Time allowed: 3 Hours                                       Max. Marks: 80 

General Instructions: 
1. All the questions are compulsory. 
2. The questions paper consists of 30 questions divided into 4 sections A, B, C and D. 
3. Section A comprises of 6 questions of 1 mark each. Section B comprises of 6 questions of 2 

marks each. Section C comprises of 10 questions of 3 marks each. Section D comprises of 8 
questions of 4 marks each. 

4. There is no overall choice. However, an internal choice has been provided in two questions of 1 
mark each, two questions of 2 marks each, four questions of 3 marks each and three questions 
of 4 marks each. You have to attempt only one of the alternatives in all such questions. 

5. Use of calculators is not permitted. 
 

Section-A 
 

1. Find the value of a, for which point P ( ୟ
 ଷ

, 2) is the mid-point of the line segment joining the 
points Q(-5,4) and R(-1,0). 

 

1 

2. Find the value of k, for which one root of the quadratic equation  kx2-14x+8 = 0 is 2. 
 

1 

OR 
Find the value(s) of k for which the equation ݔଶ + ݔ5݇ + 16 = 0 has real and equal roots. 
 

3. Write the value of cotଶθ −  ଵ
ୱ୧୬మ஘

 

 

1 

OR 
If ߠ݊݅ݏ = then find the value of  2tanθ ,ߠݏ݋ܿ +  cosଶθ 
 

4. If nth term of an A.P. is (2n+1), what is the sum of its first three terms? 
 

1 

5. In figure if AD= 6cm, DB=9cm, AE = 8cm and EC = 12cm and ADE = 480. Find ABC 

 

1 

6. After how many decimal places will the decimal expansion of ଶଷ
ଶర×ହయ

 terminate? 
 

1 
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2 
 

  Section-B 
 

7. The HCF and LCM of two numbers are 9 and 360 respectively. If one number is 45, find 
the other number. 
 

2 

OR 
Show that 7 − √5 is irrational, give that √5 is irrational. 
 

8. Find the 20th term from the last term of the AP 3,8,13,….,253 
 

2 

OR 
If 7 times the 7th term of an A.P is equal to 11 times its 11th term, then find its 18th term. 
 

9. Find the coordinates of the point P which divides the join of A(-2,5) and B(3,-5) in the ratio 
2:3 
 

2 

10. A card is drawn at random from a well shuffled deck of 52 cards. Find the probability of 
getting neither a red card nor a queen. 

 

2 

11. Two dice are thrown at the same time and the product of numbers appearing on them is 
noted. Find the probability that the product is a prime number 
 

2 

12. For what value of p will the following pair of linear equations have infinitely many 
solutions 

(p-3)x+3y = p 
px+py = 12 

 

2 

Section-C 
 

13. Use Euclid’s Division Algorithm to find the HCF of 726 and 275. 
 

3 

14. Find the zeroes of the following polynomial: 
 5√5x2+30x+8√5 

 

3 

15. Places A and B are 80 km apart from each other on a highway. A car starts from A and 
another from B at the same time. If they move in same direction they meet in 8 hours and if 
they move towards each other they meet in 1 hour 20 minutes. Find the speed of cars. 
 

3 

16. The points A(1,-2) , B(2,3), C (k,2) and D(-4,-3) are the vertices of a parallelogram. Find 
the value of k. 
 

3 

OR 
Find the value of k for which the points (3k-1,k-2), (k,k-7) and   (k-1,-k-2) are collinear. 
 

17. Prove that      ࣂ࢚࢕ࢉ − ࣂ࢔ࢇ࢚ =  ૛࢙࢕ࢉ
૛ିࣂ૚

ࣂ࢙࢕ࢉࣂ࢔࢏࢙
 

 

3 

OR 
Prove that  ࣂ࢔࢏࢙(૚ + (ࣂ࢔ࢇ࢚ + ૚)ࣂ࢙࢕ࢉ + (ࣂ࢚࢕ࢉ = ࣂࢉࢋ࢙ +  ࣂࢉࢋ࢙࢕ࢉ
 

18. The radii of two concentric circles are 13 cm and 8 cm. AB is a diameter of the bigger circle 
and BD is a tangent to the smaller circle touching it at D and intersecting the larger circle at 
P on producing. Find the length of AP. 
 

3 
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3 
 

 
19. 

 
In figure 1 = 2and ∆NSQ ≅ ∆MTR, then prove that ∆PTS~∆PRQ. 
 

 

 
3 

OR 
 
In ∆ABC, if AD is the median, then show that AB2+AC2 = 2(AD2+BD2) 

 
 

20. Find the area of the minor segment of a circle of radius 42cm, if length of the corresponding 
arc is 44cm. 
 

3 

21. Water is flowing at the rate of 15 km per hour through a pipe of diameter 14cm into a 
rectangular tank which is 50 m long and 44 m wide. Find the time in which the level of 
water in the tank will rise by 21 cm. 
 

3 

OR 
 

 
A solid sphere of radius 3 cm is melted and then recast into small spherical balls each of 
diameter 0.6cm. Find the number of balls. 
 

22. The table shows the daily expenditure on grocery of 25 households in a locality. Find the 
modal daily expenditure on grocery by a suitable method. 
 
 

Daily 
Expenditure 
(in Rs.) 

100-150 150-200 200-250 250-300 300-350 

No of 
households 

4 5 12 2 2 

 
 

 

3 
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4 
 

Section-D 
 

 
23. 

 
A train takes 2 hours less for a journey of 300km if its speed is increased by 5 km/h from its 
usual speed. Find the usual speed of the train. 
 

4 

OR 
Solve for x: ૚

(ܠା܊ା܉)
=  ૚

܉
+ ૚

܊
+ ૚

ܠ
 , ≠ ܉ ] ૙,܊ ≠ ૙,ܠ ≠ ૙,ܠ ≠ +܉)−  [(܊

 
24. An AP consists of 50 terms of which 3rd term is 12 and the last term is 106. Find the 29th 

term. 
 

4 

25. Prove that in a right angled triangle square of the hypotenuse is equal to sum of the squares 
of other two sides. 
 

4 

26. Draw a ∆ܥܤܣ with sides 6cm, 8cm and 9 cm and then construct a triangle similar to ∆ܥܤܣ 
whose sides are ଷ

ହ
 of the corresponding sides of ∆ܥܤܣ. 

 

4 

27. A man on the top of a vertical observation tower observes a car moving at a uniform speed 
coming directly towards it. If it takes 12 minutes for the angle of depression to change from 
300 to 450, how long will the car take to reach the observation tower from this point? 
 

4 

OR 
 
The angle of elevation of a cloud from a point 60 m above the surface of the water of a lake 
is 300 and the angle of depression of its shadow from the same point in water of lake is 600. 
Find the height of the cloud from the surface of water. 
 

 
28. 

 
The median of the following data is 525. Find the values of x and y if the total frequency is 
100. 
 

Class Interval Frequency 

 

0-100 2 

100-200 5 

200-300 x 

300-400 12 

400-500 17 

500-600 20 

600-700 Y 

700-800 9 

800-900 7 

900-1000 4 

 
 

4 
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5 
 

OR 
 
 
The following data indicates the marks of 53 students in Mathematics.  
 

Marks Number of students 

0-10 5 

10-20 3 

20-30 4 

30-40 3 

40-50 4 

50-60 4 

60-70 7 

70-80 9 

80-90 7 

90-100 8 

 
Draw less than type ogive for the data above and hence find the median. 
 

29. The radii of circular ends of a bucket of height 24 cm are 15 cm and 5 cm. Find the area of 
its curved surface. 
 

4 

30. If ߠܿ݁ݏ + ߠ݊ܽݐ =  .ߠܿ݁ݏ݋ܿ then find the value of ,݌
 

4 
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